Honors Pre-Calculus QUIZ 2.1-2.2 Mr. Chancellor
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Instructions: You may use your calculator for all problems, though you must show the appropriate algebraic
steps as necessary to communicate your thinking. Read each problem carefully!

1.  Convert the quadratic function f(x)=3x"—12x—8 to standard vertex form. (ﬁ/ pts)
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2. Convert the quadratic function Ay
g(x) = —x* —4x+1 to standard vertex form and :

specify the vertex, axis of symmetry, value of 3
the maximum or minimum, and find its zeros. 4
algebraically. Graph the function and identify / \
all of the above on the graph. (10 pts total)
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3. Find all real zeros of the polynomial function 4. Find a polynomial function of (iegee 3 that has
f(x)=2x"—2x" —60x algebraically. Specify zeros —1 and 2. (4 pts)

the multiplicity of each zero. (4 pts)
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5.  Construct a polynomial function that could have the graph shown below. Make sure to expand all
factors and simplify the polynomial. 74 pts) \’0)
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8-11: Sketch the graph of the polynomial function 9.
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6. State the tail behavior using the leading /U\

| coefficient test. l/\é‘(/ | E\ e{,
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7.  Find the zeros algebraically.
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Plot all from above points and sketch a

smooooooth curve through them with the proper

behavior at the zeros.
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8.  Specify additional points to plot.
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BONUS: (2 points for correct answer)

Write the standard vertex form equation of the parabola that has zeros (—5 0) and (1,0

and maximum value y =18.
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